2025/07/13 18:12 1/5 cbQUO

cDQ U [

oo

odooooooooooon

oo

00O p3810

00
0000000 $n$ 000000 $1\simn$00 $flils 00000 $is 00000 $x_i\|ex_j,y_i\|e
y j.ziNlezj$ O $i\nej$ 0 $j$ 0000

0000 $f[0\sim n-1]$[]

g1l

gobooobobooooo
gobogoboooooobooobbooobooboobobooobbooobooobboooonoD

dddddddooddooooooooodoodooooooooooooooooon
g

gobooobbodoobooobbuooobbuooobbooobLbbooobbooobboobnb o
RN

gooboooboboooobooobbooobbuooobbooobbooobbooobboobnbog
goboooboooooo

gobooobobodoobooobbooobobuoobobooobbooobboon
gobooobboobobooobbooobboobobbooobbuoooboboo

000000 $0(n\log n\log v)$[]

const int MAXN=1e5+5,MAXV=2e5+5;
struct Node

int a,b,c;

bool operator < (const Node &y)const
al=y.a a<y.a;
b'=y.b b<y.b;

c<y.c;
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bool operator == (const Node &y)const
a==Yy.a&&b==y.b&&c==y.C;

node MAXN|,node2 [MAXN ;
int n,m,cnt[MAXN]|,ans[MAXN|,6 c/MAXV];
int Id/MAXN]|,temp MAXN!;
#define lowbit(x) (x)&(-x)
void add(int pos,int v
pos<=m
c/pos|+=v;
pos+=lowbit (pos);

int query(int pos
int ans=0;
pos
ans+=c|pos|;
pos-=lowbit(pos);

ans;

bool cmp(int a,int b
node2/Id/all.b'!'=node2[Id[b]].b node2/Id/al]|.b<node2|[Id/b]].b;
node2[Id/all.c<=node2/Id/bl].c;

void cdq(int lef,int rig
lef==rig ;
int mid=lef+rig>>1;
cdq(lef,mid);cdq(mid+1,rig);
int posl=lef,pos2=mid+1,pos3=Llef;
posl<=mid&&pos2<=rig
cmp (posl,pos2
add(node2|Id[posl!|.c,cnt|[Id|posl ;
temp | pos3++|=Id/posl++];

ans | Id[pos2] |+=query(node2|[Id|/pos2!]|.c);
temp|pos3++]=Id | pos2++];

posl<=mid
add(node2|Id|/posl| | .c,cnt[Id posl ;
temp|pos3++=Id | posl++];

pos2<=rig
ans|Id/pos2]| +=query(node2|[Id|/pos2]]|.c);
temp | pos3++=Id[pos2++];

_rep(i,lef,mid)add(node2/Id[i|]|.c,-cnt[Id/i ;
_rep(i,lef,rig)Id/i/=temp[i];
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int f/MAXN]:
int main

n=read int(),m=read int();
_for(i,0,n
nodel[i|.a=read int(),node(i|.b=read int(),node[i|.c=read int();
sort(node,node+n) ;
memcpy (node2,node,sizeof(node2) );
int t=unique(node2,node2+n)-node2;

int i=0,j=0;i<n;j++

node|i|==node2|j|&&i<n
cnt[jl++, i++;
Id[j1=];

cdq(0,t-1);

_for(i,o,t
flans|[il+cnt[i]-1]l+=cnt[i];
_for(i,0,n

enter(f[i]);
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const int MAXN=1e5+5,MAXV=2e5+5;
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struct Node
int a,b,c,id;
bool lower;
bool operator < (const Node &y)const

al=y.a a<y.a;
b!=y.b b<y.b;
C<y.C;
bool operator == (const Node &y)const

a==Y.a&d&b==y.b&&c==y.C;

node MAXN|,node2 [MAXN |, temp [MAXN |, temp2 [MAXN | ;
int n,m,cnt[MAXN],ans MAXN|;
void cdg2(int lef,int rig
lef==rig ;
int mid=lef+rig>>1;
cdg2(lef,mid) ;cdq2(mid+1,rig);
int posl=lef,pos2=mid+1,pos3=lef,s=0;
posl<=mid&&pos2<=rig
temp|posl|.c<=temp|[pos2|.c
temp[posl|.lower)s+=cnt|temp[posl|.id];
temp2|pos3++|=temp|[posl++];

I'temp|pos2|.lower)ans|temp|[pos2).id|+=s;
temp2|pos3++|=temp|[pos2++];

posl<=mid
temp |/ posl]|.lower)s+=cnt|[temp/posl].id];
temp2 | pos3++|=temp|[posl++];

pos2<=rig
I'temp|[pos2|.lower)ans | temp[pos2]|.id]|+=s;
temp2  pos3++=temp|[pos2++ ] ;

_rep(i,lef,rig) temp/i/=temp2/i];

void cdql(int lef,int rig
lef==rig ;
int mid=lef+rig>>1;
cdgl(lef,mid);cdql(mid+1,rig);
int posl=lef,pos2=mid+1,pos3=Llef;
posl<=mid&&pos2<=rig
node2|posl|.b<=node2|pos2].b
node2 posl|.lower=true, temp|[pos3++/=node2 posl++];

node2|pos2].lower=false,temp|pos3++/=node2 | pos2++]|;

posl<=mid)node2|posl]|.lower=true,temp/ pos3++/=node2|posl++];
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pos2<=rig)node2|pos2].lower=false,temp| pos3++|=node2|pos2++];
_rep(i,lef,rig)node2/i/=temp|i];
cdg2(lef,rig);

int fIMAXN];
int main

n=read int(),m=read int();
_for(i,0,n
nodel[i|.a=read int(),node(i|.b=read int(),node[i]|.c=read int();
sort(node,node+n) ;
memcpy (node2,node,sizeof(node2) );
int t=unique(node2,node2+n)-node2;

int i=0,j=0;i<n;j++

node|il==node2|j|&&i<n
cnt[j |4+, i++;

node2|j|.id=j;

cdgql(o,t-1);
_for(i,0,t
flans{i/+cnt[i]-1]+=cnt|i];
_for(i,0,n
enter(f[i]);
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